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INSTRUCTIONS AND iNFORMATION

1. This paper consists of 2 Sections :

SECTION A — THEORY - 75 MARKS

SECTION B - MAPWORK - 25 MARKS

This paper consists of _7 pages and _4 questions.

Rule off after each question.

Write neatly and legibly.

Use a black or blue pen. No neon colours to be used.

Use the mark scheme as a guide for the length of your answers.

Number your answers correctly according to the numbering system used in this

paper.
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ECTION A — THEORY

QUESTION 1

1.1 Use the terms below to match the statements that follow.

Tarrifs Development Emerging markets Greenbelt
Protectionism  Multinationals Trade balance Food security
Quota Globalisation positive trade balance Greenfield sites

1.1.1 Improvement of economic and social conditions of a country.
1.1.2 Countries that operate all over the world.

1.1.3 Taxes that are imposed on imported goods.

1.1.4 Developing countries that experience rapid economic growth.
1.1.5 When the value of imports is equal to the value of exports.

1.1.6 Government actions or policies that restrict international trade.
1.1.7 Area comprising natural vegetation found in and around the City.

1.1.8 Having enough nutritious food to feed a population.
8 X11[8]
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1.2  Refer to the source below on a Developmental Model and use the following

stages of the model to answer the questions that follow.

High mass consumption
The traditional society
Take off

Preconditions for take off
The drive to maturity

Level of

development
4 5

Time

v

1.2.1 Name the economist that proposed this model.
1.2.2 Provide labels for stages 1, 2, 3, 4 and 5.
1.2.3 What stage of development will South Africa currently fall under

according to this model?

1X1[1]
1 X 5 [5]

1X1[1]

[71
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QUESTION 2

2.1 Study the World Map below showing the Brandt line and answer the
questions that follow.
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2.1.1 Explain your understanding of the Brandt line.

2.1.2 Suggest 2 reasons why the northern part is wealthier
than the southern part.

2.1.3 Do you think it is fair to have gross inequalities and injustice in
the world as depicted by the source above? Briefly express your
views.

2.1.4 Provide a geographical term (economic index) that measures the
inequalities between the rich and poor.

2.1.5 In a paragraph of not more than 6 lines, suggest three measures
that you would put in place to correct the injustices and inequalities
that prevail in the world today.

1X2[2]

2 X 2 [4]

2 X2 [4]

2x1[2]

3 x 2 [6]

(18]



2.2

2.2
2.2.2
223
2.2.4

2.2.9

Page 4 of 7

Refer to the article (Daily News 23 August 2019) below and answer the
questions that follow.

Zimbabwe’s inflation
rockets to 230.41%

ONLINE financial media service
platform Equity Access says it

has obtained suppressed statistics
from Zimbabwe’s statistical agency
(Zimstat) which implies that year-on-
year inflation rate stands at 230.41%
as of mid-july.

Equity released the figures after
Zimbabwe Finance Minister Mthuli
Ncube suspended the publication of
these figures until February 2020, argu-
ing that adoption of a new currency
had impacted the base for calculating
the consumer price index.

Zimstat said on Wednesday the
country’s month-on-month inflation
rate had fallen to 21.04% in July com-
pared to 32.96% the previous month.

Annual inflation hit 175.66% in
June, the highest rate since the coun-
try abandoned its currency in 2009. |
African News Agency (ANA)

What do you understand by the term ‘inflation™?
State the current rate of inflation in Zimbabwe.

Why do you think that the Finance Minister suspended the

publication of the figures released?

Explain what the phrase, ‘The Country abandoned its currency’

mean.

Briefly explain the impact that the sky high inflation and the weak
Zimbabwean dollar will have on the South African economy.

2X1[2]
1x1[1]

3x1[3]
2x1[2]

2x2[4]

[12]
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‘QUESTION 3

3.1 2010 has been a historic year for South Africa due to the hosting of the
Soccer World Cup. Refer to the source below which captures a small part of
the build-up process to this event, namely the manufacturing of soccer balls.
The manufacturing of soccer balls in countries far away from where they are

used, is an example of “GLOBALISATION”.

Omar lives on the outskirts of Sialkot in Pakistan. In that city and the villages around it
they make 75% of the world’s hand-stitched footballs. They produce an amazing

35 million footballs a year.

'I have been sewing footballs since | was eight. | don't like it much. But | have to do it
because | have to support my family. | work in a stitching centre. | start at 7 in the
morning and end at 8 in the evening. | do 4 footballs a day and earn R24 per day.’

'l saw a World Cup match in South Africa on TV in my uncle’'s house. The football could
have been one | sewed. But nobody at the match knew about me.’

Why 18 Omar paid so little? This is what happens:

We must
make more
profit...

The lgss it pays for the
footballs the more profit &5
it will make ...

... and then sells them
to clubs and sport
shops at a profit.

This British company |
supplies footballs. It |
gets them made ...

S

... 80 it searches the
world for a factory to
make ther cheaply

3.1.1 Define the term ‘GLOBALISATION'. 1X2][2]
3.1.2 Give 2 reasons why this multinational corporation uses less

developed countries to produce their soccer balls. 2 X2[4]
3.1.3 Give 2 pieces of evidence from the passage to suggest that Omar

is exploited as a worker. 2 X2 [4]
3.1.4 Briefly outline how the hosting of the 2010 Soccer World Cup has

impacted positively on South Africa’'s economy. 4 X 28]

[18]
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3.2.1

3.2.2

3.2.3
3.24

3.2.5

Refer to the table below and answer the questions that follow.

i\ustrulia 251 bn {000 | 0,94 035\ 124 16, -le 17 *)(J 299 ib
Brazil St 110100 | 0.70 1055 1180 [64 |72 219 |90 | 172 16 |
Japan L2tm 42700 (088 |024 |74 |98 |82 128 |99 206 |5
Kenyz 62600 | 1600 1047 1048 |35 |93 |59 1535 |87 |14 |31
| South Africa_| 5052 ba | 10300 | 0,60 | 0,67 19,6117 |49 | 438 |89 177 |6
E__Switzerlanc;“ 147 b | 41400 | 087 | 093 |96 |87 |81 |41 |99 | 40,7 |5
| Thailand 5401 bn |8200 065 042 |13 |65 |75 [167 |94 |3 |15
usA 14,1t {46000 | 0,90 [040 | 138 84 |78 |61 |99 %7 |5
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Define the following terms :

a) Gross Domestic Product (GDP)

b) Life Expectancy

List 3 indicators of development used to measure the HDI of a

country.

Name the country with the highest HDI.
USA has the highest GDP per Capita. Explain the relationship
between USA’s GDP per Capita and literacy levels.
According to the table, South Africa has a life expectancy of 49.
Suggest a reason for South Africa’s low life expectancy.

15 + 30 + 30 = [75]

1X2([2]
1X2[2]

1X3[3]
1%X1[1]

1X2(2]

1X212]

[12]
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SECTION B - MAPWORK

QUESTION 4

Refer to the map extract STEYNSBURG 3125 BD and answer the following
questions.

4.1  ldentify the type of scale represented on ‘the map'. [1]
4.2  Write down the scale as a word scale. [2]
4.3 Referto 3125 BD and give the :
a) Latitude [1]
b) Longitude [1]

4.4  Give the cardinal direction of Suurberge (A3) from the town of Steynburg. [2]
4.5 Calculate the straight line distance in kilometres between <1804 (B1)

And <1854 (A2). [3]
4.6.1 Calculate the True bearing of A97 (E4) from <1699 (E3). 21
4.6.2 Using the same true bearing that you calculated (ans. 4.6.1),

calculate the magnetic bearing for the current year if :

Magnetic Declination for 2013 is 24°12' W of T.N.

Mean annual change is 2" westwards. [4]
4.7  Calculate the grid reference in degrees, minutes and seconds of the

wind pump in Block (B2). [6]
4.8 ldentify the following spatial data in D6.
4.8.1 Line [1]
4.8.2 Point (1]
4.8.3 Polygon 1]

[25]

TOTAL [75] + [25] = [100]
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